The fundamentals of English grammar

There +to be




KoHcTpykuusa there + to be

MCMONb3yeTca, KOrAa MbI XOTUM CKA3aTb, YTO
YTO-TO rAe-ToO HaxXoauUTCA: CTOUT, NeXUT, BUCUT U T.A.

For example:
Ha cTtone ctout Ha cTeHe BUCAT Tpu

There is a vase on the table.

0 There are three pictures on the wall.



Statements

Singular (eauHcTBEHHOE YMCNO) Present Simple

There is @ vase on the table.
There is @ yToO rpae

Ha pycckum a3bIK

Ha cTtone ctout nepeson
Bd3d. npomn3Boaumtca C
Plural (mHOoXecTBeHHOE u4MCnO) ekl
npeanoxXeHus.

There are three pictures on the wall.

There are X yrto ,  rAe

Ha cteHe Bucartpmu ——




f\ Questions

P There is a vase on the table.
P Is there a vase on the table?

Singular

Yes, there is. | |No, there isn't.

/-\ Plural

+ There are three pictures on the wall.
D Are there three pictures on the wall?

Yes, there are. No, there aren't.



Is there a vase on the table?

Negations

There is a vase on the table. || There is )(vase on the table.
A
isn't
Are there three pictures on the wall?
There are@ three pictures

on the wall.

A

aren't

There ar'e‘ pictures
on 'rhall :




Special questions

Wha’r is there on the window sill?

There are some plam' s and a cat on the window sill
There is a cat and plants on the window sill.

How many plants are there on the window sill?

There are three plants on the window sill.




some[any[no

? Are there any plants on the window sill? [ "5 =

4+ Yes, there are some plants on the
window sill.

= No, there are no plants on the window
sill. 48

? Is there any juice in the glass?

<4 Yes, there is some juice in the glass.

= No, there is no juice in the glass.




Present Simple Future

Simple
[0 Thereis a purple [0 There was a white 0 There will be
shirt in the shirt in the wardrobe. ten shirts in the
==  wardrobe. 0 There were two shirts wardrobe.
[ There are five shirts in the wardrobe.
in the wardrobe.
[ Isthere a purple [ Was there a white 0 Will there be
shirt in the shirt in the wardrobe? ten shirts in the
? wardrobe? 0 Were there two shirts wardrobe?
® O Are there five shirts in the wardrobe?

in the wardrobe?

0 Thereisn’tapurple [ Therewasn’tawhite [ Therewon’tbe

shirt in the shirt in the wardrobe. ten shirts in the
= wardrobe. 0 There weren’t two wardrobe.
0 There aren’t five shirts in the wardrobe.
shirts in the

wardrobe.



